
Protist is a unicellular Eukaryotes 

Which molecules have a double bond in its skeleton. C3H8 C2H4 C2H6 C2H2 C2H4 

 

How many structural isomers are possible for a hydrocarbon having a molecular formula of C4H10 is 

2(b) 

 

Element X to be stable by an ion what would the charge be?  

 

PH=pka+Log[A-]/[HA] 

HA <-> H+ + H-  

Test 3 1-3 

Following associates are incorrect: Capsid-Protein shell/Coat of a virus 

DNA-mRNA-Protein 

Mrna-dna-> Retroviruses((HIV)  

Transduction-Four Ways Mutation-Mutating Transformation-sucking up plasmids Conjugation-Sex Pili 

Transduction-Lysogenic cycle  

 Lytic versus Lysogenic cycle: 

Both Cycles are temperate viruses.  

Three:  

Skin is made up of keratin 

Skin is connected by  

Microtubles are like highways part of mitosis 

Actin side streets Part of mitosis  

Intermediate filaments no motor proteins 

Kenisin moves away 

Dinein moves toward  

Test 3 #49 Decreasing the fatty acid chains in the membrane phospholipids would tend to: Decrease the 

fluidity  

Exam 2 Question 5 Isomers count how many C there are not then they are not. Are they all connected 

the same. OH is a hydroxyl group. Not mirror images and they diastereomers.  
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